EE 230
Lecture 11

Basic Applications of
Operational Amplifiers



Quiz 8

Although high gain amplifiers are often needed, the
operational amplifier, which is a high gain amplifier, is
almost never used as an open-loop voltage amplifier.

a) Give two major reasons that the op amp is almost
never used as an open-loop voltage amplifier

b) How are large voltage gains practically realized?
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Quiz 8

a) Give two major reasons that the op amp Is almost never used
as an open-loop voltage amplifier

Gain of op amp is nonlinear
Gain of op amp is too variable

Other issues (such as offset voltage) render circuits not
usable in most applications

a) How are large voltage gains practically realized?
By a cascade of a larger number of finite gain feedback

amplifiers
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Op Amp input port is termed a “null port”

Virtual short exists between input terminals of op amp when operating as an
amplifier

Op Amp is almost never used as an open-loop voltage amplifier
Op Amp is basic high-gain amplifier used to build feedback networks

Although feedback is used in almost all linear applications of op amps, feedback
analysis is seldom used to analyze such circuits
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